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Q1. (3 pts) For the function graphed in the accompanying figure, find
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Q2. (2 pts) Use & —& definition to show that lirfl2 2-3x)=8
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Q3. (12 pts) In problems (a) to (£) find the following limits if they exist, if not, when
possible state whether the limit approaches + o or —
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e) lim
x-0 sin 2x 1

sol 3 ; L _X : L
N \\M _\, x = \\.m 7" -~ + ] {“1-“ = 2.
5\«11 ro

SiatX

. tanx-—sinx
lim—————
=0 sin” x

Siax - S{n an)(_Sgnxccjx ' \

— \{m 5(“31

< 27 -

x—0 3 o

SN o
= \\.W\ J— R

cos W

~ 'l'm

x e ‘ S{nta
\i {—~Cos3¢
= m
1) XC\ -Cos"x )
%2
|M- -
| - i -4 -1

X‘”’o CbS’fC/aa/)C|+Cog;¢) 1Ge) 3

Q4. (2pts) Show that the equation 5x* +10x + 8 = 0 has at least one real solution in the
interval [-1,0].
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Q5. (1+2 pts)Given f(x)= W—zz
=

a) Find the values of x (if any) at which f is not continuous
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b) Determine whether each such value is a removable discontinuity. Explain you
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Q6. (3 pts) Find a nonzero value for the constant k that makes f(x)=4 x ’
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Q7. (3 pts) If | f(x) +3| < 2}x — 5, then find lim f (x) . (Hint: Use the Squeezing theorem)
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